Fact Families (B)

Fill in the blanks to complete each fact family

_ 6 = 12 3 x 8 = 5 x 30
6 2 = _ 8 x 3 = _ 6 x 5 -
12 =6 24 + = 8 30 =+ 5 _
- 6 = 2 24 + 8 = 30 + 6 -
_ 4 = 4 7 x = 42 7 x 49
- 1 = 4 6 x _ = 42 _x 7 49
4 =4 __+ 7 =6 49 + 7 -
4 4 = _ 42 + 6 = _ 49 + 7 -
5 1 = _ 6 x _ = 36 8 x 8 -
1 =5 6 x 6 = _ 8 x 8 _
- 5 =1 36 + 6 = _ =+ 8 8
5 =5 ____+ 6 = 6 64 + 8 -
4 =12 ___x 8 = 48 ____ x 8 64
- 4 = 12 ___x 6 = 48 ____ x 8 64
12 4 = _ ____+ 6 = 8 ____+ 8 8
12 3 = _ 48 + 8 = __ =+ 8 8
6 2 = 1 x =7 4 x 28
2 6 = _ 7 x 1 = _ 7 x 4 L
12 = 2 7 + _ =7 28 + 7
12 =6 7 =+ = _ o+ 7 4
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Fact Families (B) Answers

Fill in the blanks to complete each fact family
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